>4 leptons 1y g- ERSS T Ny =0,Ny=0 [ N, =1L, Ny=0 [ Ny =0,Ny>1 [ Niy =1, N, >1
(GeV) | Obs. Exp. Obs. Exp. Obs. Exp. Obs. Exp.

OSSFO  — (100,c0) | O 007£0.07| 0 018+0.09| 0 0.05+005| 0 0.16 = 0.10
OSSFO ~ — (50,100) | 0 0.07+£006| 2 080+035| 0  0.0079% 0 0434022
OSSFO ~ — (30,50) | O 00017092 | 0 0474+024| 0  0.0070% 0 0.11+0.09
OSSFO  — (0, 30) 0 00077907 | 1 040+016| 0  0.00172%9 | 0 0.0279%
OSSF1  Off-Z (100,c0) | O 0074004 | 4 1.004£033| 0 0144+009| 0 046020
OSSF1 ~ On-Z (100,00) | 2 06402 | 2 34408 1 080+£041| 0 0.60+£0.26
OSSF1  Off-Z (50,100) | 0 0214009 | 5 26+06 | 0 021+£011| 1 0704£0.32
OSSF1 ~ On-Z (50,100) | 2 130+£039| 10 120+£25 | 2 060+033| 1  08+03
OSSF1  Off-Z (30,50) | 1 0164007 | 4 24405 | 0 006+006| 0 047 +0.21
OSSF1 ~ On-Z (30,50) | 3 1.204+035| 11 140+£31 | 0 0224012 0 0.80+031
OSSF1  Off-Z (0, 30) 1 038+018| 11 57+17 | 0 005+£004| 0 0.50+0.26
OSSF1 ~ On-Z (0, 30) 1 20405 | 32 300+£92 | 1 0194011 | 3 130+042
OSSF2  Twoon-Z (100,c0) | 0  0.0240.15 | — — 0 0214013 | — —
OSSF2  Oneon-Z (100,c0) | 1 0434015 | — - 0 050+£029 | — -
OSSF2  Off-Z (100,00) | O  0.0640.03 | — — 0 0094007 | — —
OSSF2  Twoon-Z (50,100) | 3 28421 | — — 0 033+£011| — —
OSSF2  Oneon-Z (50,100) | 1 20407 | — — 1  0504+028| — —
OSSF2  Off-Z (50,100) | 2 020+0.14 | — — 0 012+010| — —
OSSF2 ~ Twoon-Z (30,50) | 19 2249 — — 2 070+£024 | — —
OSSF2  Oneon-Z (30,50) | 6  654+24 | — — 0 032+£012] — —
OSSF2  Off-Z (30,50) | 3 14406 | — — 1 0154008 | — —
OSSF2  Twoon-Z (0,30) | 118 1094+28 | — — 3 20+£05 | — —
OSSF2  Oneon-Z (0,30) | 24 290+76 | — — 1 060+017 | — —
OSSF2  Off-Z 0,30) | 5 78423 | — — 0 018+006| — —




